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A={10-%g Boggdo 356GH030 HoEbzgdoL Loz}
B={4-%g 390 3950 HoEbzgdol LodGsgwg}
3o8mmgscngo N [(D NA)U(C- B)]

Select one:
a. 2
b.3
c.5
d. 4
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Question 5
dmggdmeos P(A|B)=0,8 , P(ﬂ‘ M B) =0,4 . 390mmzogom  P(B).
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Question 6

P(C)=0,3_,P(D)=0,2
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Question 7
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Select one:

a. E={8mg00s gogco 1 56 3}
b. D={8mgz0@s5 gog®o 1 56 5}
c. C={8mg0ws goyco 3 6 6}
d. M={8mgz0©s5 gog®o 2 56 3}
e. K={dmgows gog®o 3 56 4}
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Select one:
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Answer:

Question 10

bEGHO0 BEABDIOGHM IEHIL 59D5IBL 0.9 5EBSMMBOm. ASFMMZoegm 0oL SEIVSMMBS, ™A
©59%%50090 100 ©g@Eedo BEBIOEHM EIBHIWDS MH5MEIEMdS 0469ds 5G9b53¢9d 87-0l s
5659939 96-0b. 3sbvybo ssdMYZ5go 8dodol Fgdgy mmbo 0gMOL LobMLGom. ( P(-X )=-
®(x), ©(1)=0,3413, ©(2)=0,4772, ®(2,5)=0,4938, ®(3)=0,4986).
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Select one:
a. 0,8786
b. 0,8185
c. 0,8929
d. 0,971

Question 11
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Select one:

a. 0,1

b. 0,6

c. 0,01

d. 0,2
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